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NOTES: QUADRATIC

‘ Vertical Motion Model

h=-16t2+ vt + s
/ / \ \[ starfing heigh‘rJ

[ ending height ] [ velocity ]
[Time in S‘eCOhol'S]

‘ What Poinfs Should | Find oh The Graph?

maximum height, y, of golf

(xl Y) ball after x seconds

(x, y) At what time, x, did
the object reach a height, vy,
of 10 feet?

rd

(X, y) At what time, x, will

/ the ball hit the ground?

—

© mandy’s math world 2020-2023



‘ Application Problems

1. A golf ball is hit from the ground with an initial velocity of 100 feet per
second. The equation h = =16t2 + 100t gives the height of the ball

after t seconds.
a. What is the maximum height of the ball? I |

b. At what time will the ball reach its maximum height?

c. How long will it take for the ball to reach the ground? | \

height, h, of the firework after t seconds can be modeled by
h(t) = -16t2 + 75t.

a. At what time will the firework reach its maximum height?

b. At what time was the firework 20 feet above the ground?
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l Applicafion Problems Confinued

c. How long will it take for the firework to reach the ground? | |

3. A baseball is thrown from the stands onto the field that is 20 feet below.
The ball’s height above the ground is modeled by
h(t) = -16t2 + 28t + 20.

a. What is the maximum height of the baseball? ' |

b. After how many seconds will the ball reach the ground? | |

c. What will the height of the ball be after 1.5 seconds? | \
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